Advanced Function Instruction
FUN34 [@ Multiple Linear Conversion FUN34 [@
MLC (MLC) MLC
— 34P. MLC— ,
e ecution Rs : Starting address of the source data
Control EN — Rs: —OVR S| : Quantity of source data, 1~64
Sl: Tx : Starting address of X table
Selection X/Y— Tx: Ty : Starting address of Y table
Tv - Tl : Quantity of table, 2~255
y: D : Starting address to store the result
Tl :
D:
S| HR | R |ROR| DR | K
o § RO |R3840|R5000| DO
§ NC| | ]
= R3839 | R3903 | R8071 | D3999
Rs O|lO0O |00
S| O O | O |1-64
Tx O O 10O
Ty O o | O
Tl O O | O |2~255
D O o 10

When the analog input module being used for the analog measurement, the raw reading value of
the analog input can be converted into the engineering range through this instruction for display
or for proceeding control operation.

For process measurement calibration, making the linear conversion for the engineering process
variable, which the measurement value from the PLC's can be corrected by the value from the
standard meter's through this instruction.

When execution control "EN"=1or from 0—1( [§ instruction), this instruction will perform the
multiple linear conversion operation according to the selection of X/Y input; where Rs is the
starting address of the source data, Sl is the quantity of source data for conversion, Tx is the
starting address of X conversion parameter table, Ty is the starting address of Y conversion
parameter table, Tl is the quantity of X/Y table, D is the starting address to store the converted
result.

When executing and selection X/Y=0, it will compare the source data with the
entities of Tx table to find the corresponding location in Tx table (The entities
in Tx table must be in ascending sequence), and then calculate the linear
conversion according to the located section of Tx and Ty table;

When executing and selection X/Y=1, it will compare the source data with the
entities of Ty table to find the corresponding location in Ty table (The entities
in Ty table can either be in ascending or descending sequence), and then
calculate the linear conversion according to the located section of Ty and Tx
table.

When the source data is out of all entities of table, OVR=1.

It wouldn’t execute this instruction if illegal Sl or TI.
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Expression:

either

.Value of Vy ~ Vx~ Tx_n~ Tx_n+1 -

descending sequence.

Ty _n-

| Figure of multiple linear conversion:

(Tx-n,Ty-n)

(Tx-2,Ty-2)

(Tx-0,Ty-0)

(Tx-3,Ty-3)

When executing

Vy = (Vx—Tx_n) x (Ty_n+1—Ty_n/Tx_n+1—Tx_n) + Ty_n if X/Y=0
Vx = (Vy—Ty_n) x (Tx_n+1—Tx_n/"Ty_n+1—Ty_n) + Tx_n if X/Y=1

v

. The entities of Tx conversion parameter table must be in ascending sequence to

have correct linear conversion; the entities of Ty conversion parameter table can
in ascending or
instruction, it will search the located section by comparing entities of the
table with source data, and then calculate the linear conversion according to
the following expression:

this

Ty _n+1 must be -32768~ 32767
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FUN34 [@ Multiple Linear Conversion FUN34 [@
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| Example 1 : |
(Tuwk] M1 . 3‘1--P\I'I.EEI:| M100
E M- +3
—iHl EN 108 o F— W)
21 Ra9
M11 g
_I I x_l,:"\( T ng:l:l
4= nn ]
u}
T1: R193
g
o n]u}
140

Description : When M10=1 - M11=0, RO is the starting address of source data - R99 is the
quantity of source data, R1000 is the starting address of Tx conversion
parameter table, R2000 is the starting address of Ty conversion parameter table -
R199 is the quantity of table; the source data RO~R5 will be calculated the
linear conversion according to Tx and Ty table between four sections, then
store the results into DO~ D5.
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Ref. Mo Statuz  |Data  |Ref Mo |Statuz  |Data Ref. MiStatuz  |Data Fef. Mo Statuz
1000 Decimal 0 R2000  Decimal O R0 Decimal 1000 Do Decimal 140
R100m Decimal 2000 |R2001  Decimal 280 R1 Decimal | 2500 01 Decimal 342
R1002 Decimal 4000 |A2002  Decimal 530 R2  Decimal iREO0 iD2 Decimal | 714
R1003 Decimal 6000 |R2003 Decimal &0 A3 Decimal 7500 03 Decimal 917
R1004 Decimal 3000 |R2004 Decimal 970 R4 Decimal 3000 04 Decimal 970
F199 Decimal & AR5 Decimal 10000 D& Decimal 1180
k10 Enable 0OM k11 Enable |OFF R399 |Decimal & w
StatusPagel A StatusPagell AStatusPage2 |
A
Y 6000,760
970 1
760 1
2000,280
530 -7 8000,970
280 -9 4000,530
0,0
B S -
2000 4000 6000 8000
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FUN34 [@ Multiple Linear Conversion FUN34 [@
MLC (MLC) MLC
| Example 2 : |
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quantity of table;

the source data RO~R5 will
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Description : When M10=1 - M11=0, RO is the starting address of source data - R99 is the
quantity of source data, R1000 is the starting address of Tx conversion parameter
table, R2000 is the starting address of Ty conversion parameter table -~ R199 is the

be calculated the

linear

conversion according to Tx and Ty table between five sections, then store the
results into DO~D5.The result value is 280 if source data =< 2000; the
result value is 970 if source data = 8000.
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Fef. Ho Status  |Data  |Ref Mo |Status  [Data Ref. HiStatus Fef. HoStatus  |Data
RA000 Décimal | 2000 | R2000 | Deciral 280 (RO Decimal DO Decimal 280
..... R1001 Decimal 2000 |R2001 Decimal 280  .-/R1  Decimal o1 Decimal | 280
R1002 7 Diecial 4000 B2002 - Désimal 530 Rz  Decimal 0z Cecimal 505
R1003 Decimal 6000 R2003  Decimal | 760 R3 Decimal 03 Decimal (917
R1004 " Decimal 8000 R2004  Decimal 970 R4 Decimal D4 Decimal 370
F1005 Decimal 8000 R2005  Decimal El?EI ................... 'S Decimal : D5 Decimal | 970
F1as ] Ligdirial 6 R99 " Decimal B M10  Enable M11  Enable OFF v
StatusPagel A StatusPagell AStatusPage2 [
A
Y 6000,760
970 1.
760 1
2000,280
530 8000,970
280 \Q
4000,530
0,0
N . x
2000 4000 6000 8000
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Ref. Ho Status  |Data  |Bef. Mo Statuz  [Data Ref. MiStatuz Ref. HoStatus Data
oo+ Rio00 Decimal -8000 R2000 Decimal 100 R0 Decimal - Do Decimal | -100
R001....  Decimal -8000  R2001 Decimal -100..R1  Decimal D1 Decimal 950
H1DD2DEEIma|BDDDH2DD2 ...... DECImalEDDnHz DECimal D2 DECimal ‘I 4?5
" [fF1003.... . Decimal 8000 R2003 Decimal 2000..R3  Decimal D3 |Decimal |2000
A4 ey e ya — iy D 1100
- RS Decimal i1 D5 Decimal 2000
r10 Enable |OM M11 Enable OFF R33  Decimal “

StatuzPagel A StabusPage0l A5tatuzPage? [/

Description : When M10=1 - M11=0, RO is the starting address of source data - R99 is the
quantity of source data, R1000 is the starting address of Tx conversion parameter
table, R2000 is the starting address of Ty conversion parameter table -~ R199 is the

quantity of table;

the source data RO~R5 will

be calculated the

linear

conversion according to Tx and Ty table between three sections, then store the

results into DO~D5.The result value is
result value is 2000 if source data

-8000

>

8000.
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-100 if source data =

8000,2000

8000

-8000; the

v
X

T

-8000,-100

-1~ -100
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FUN34 [@ Multiple Linear Conversion FUN34 [@
MLC (MLC) MLC
| Example 4 : |
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Status  |Data. [Ref. Mo, Fef. MiStatus  |Data Ref. NoStatus L

oo || Decimal 3276 R2000 -AAA:FH:I Decimal |0 0o Decimal
o R2000 “R1 Cecimal | 3276 L1 Crecimal

Rz 000 'R2002 Decimal 50007 R2  Decimal 4095 D2  Decimal 321
woos | | 0RI003.  Decimal 16000 R2003 Decimal 5000~ R3  Decimal 9638 D3 Decimal 2500
F199 Decimal |4 | | R4  Decimal 16000 D4  Decimal 5000
RS Decimal (16380 (D& Decimal 5000
NEe M10 Enable iOM  :M11  Enable OFF R99 | Decimal B

StatusPagel 4 StatusPagell AStatusPage2 /

Description : When M10=1 - M11=0, RO is the starting address of source data - R99 is the
quantity of source data, R1000 is the starting address of Tx conversion parameter
table, R2000 is the starting address of Ty conversion parameter table - R199 is the
quantity of table; the source data RO~R5 will be calculated the linear
conversion according to Tx and Ty table between three sections, then store the
results into DO~ D5.The result value is 0 if source data = 3276; the
result value is 5000 if source data = 16000.

Y
N 16000,5000
- 5000 ¢
0,0 16000
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3276,0




